
Ecuaciones con Números que Faltan (C)¿Qué valor representa cada figura?
14 + ∇ = 33 40 ÷ ⟣ = 20 ∆ + 3 = 14 ⎔ ÷ 3 = 3
121 ÷ ⧖ = 11 17 × ♠ = 187 ⧉ − 9 = 13 13 + ∆ = 29
10 × ⧖ = 140 ⌷ + 4 = 12 56 ÷ ⊙ = 14 14 + ⦿ = 31
⦿ + 2 = 15 28 − ◊ = 13 12 × ∆ = 216 12 × ⧖ = 192
⌷ × 12 = 168 ⌓ − 6 = 6 75 ÷ ∇ = 15 □ + 13 = 24
16 × ∎ = 16 25 − ⊞ = 12 □ × 6 = 42 12 × ◊ = 216
⨳ × 6 = 36 ⍟ + 1 = 10 ⟣ + 8 = 10 ▭ − 2 = 14
⊞ × 8 = 144 7 × ∆ = 105 ⧖ × 18 = 54 1 + ⌂ = 14
266 ÷ ⊞ = 19 ∎ × 18 = 18 16 − □ = 14 ⦿ + 4 = 12
18 × ⎔ = 126 11 × □ = 110 ⨳ × 10 = 120 6 − ⧖ = 4
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